
 

1 
 

 

 

 

 

 

 

 

 

SEABIN V5 HYBRID 

Technical Notice 
 

 

 

 

Edition 1 – 02/20/2018 

 

 

 



 

2 
 

 

 

 

 

 

 

 

 

PORALU MARINE / ROTAX is the official supplier of SEABIN V5 HYBRID 

The fabrication and sale of SEABIN V5 HYBRID is performed by SAS ROTAX: 428 652 
531 R.C.S. BOURG-EN-BRESSE (FRANCE) – Subsidiary of SAS NOVA NAUTIC: 511 219 

370  R.C.S. BOURG-EN-BRESSE (FRANCE) – known under “PORALU MARINE” trademark.               
Geographic location: RUE DES BOULEAUX ZONE INDUSTRIELLE - 01460 PORT, 

(FRANCE).  

Websites : http://www.ROTAXmarine.com/accueil_13.en.html                                                                       
and http://www.poralumarine.fr/accueil_54.en.html. 

 

Further information at: http://seabinproject.com/ 

  

 

 

 

http://www.rotaxmarine.com/accueil_13.en.html
http://www.poralumarine.fr/accueil_54.en.html
http://seabinproject.com/


 

3 
 

TABLE OF CONTENTS  

1 INTRODUCTION .............................................................................................................. 5 

1.1 ELIGIBILITY CONDITIONS ..................................................................................... 5 

1.2 Location .............................................................................................................. 5 

1.3 NECESSARY TOOLS FOR INSTALLATION ................................................................ 6 

1.4 TECHNICAL SPECIFICATIONS AND DIMENSIONS ................................................... 7 

1.5 HANDLING .......................................................................................................... 8 

1.6 NOISE AND INDIVIDUAL PROTECTIVE EQUIPEMENT ............................................. 8 

1.7 SUBSETS PLAN ..................................................................................................... 9 

1.8 DETAILED PLAN ................................................................................................. 11 

2 INSTALLATION GUIDE ................................................................................................... 13 

3 MAINTENANCE GUIDE .................................................................................................. 18 

3.1 CATCH BAG CHANGE ......................................................................................... 18 

3.2 REGULAR CLEANING .......................................................................................... 19 

3.3 TANK DECLUTTERING ........................................................................................ 20 

3.4 PUMP MAINTENANCE ....................................................................................... 21 

3.5 PUMP TECHNICAL NOTICES ............................................................................... 21 

4 HELP / FAQ ................................................................................................................... 22 

5 WARRANTY .................................................................................................................. 23 

5.1 GENERAL CONTRACTUAL WARRANTY CONDITIONS ........................................... 23 

5.1.1 SCOPE .......................................................................................................................................... 23 

5.1.2 EXCLUSIONS ................................................................................................................................ 24 

5.2 SPECIFIC WARRANTY CONDITIONS .................................................................... 25 

5.2.1 SCOPE .......................................................................................................................................... 25 



 

4 
 

5.2.2 EXCLUSIONS ................................................................................................................................ 25 

6 APPENDICES ................................................................................................................. 26 

6.1 TECHNICAL NOTICE 110V PUMP ........................................................................ 26 

6.2 TECHNICAL NOTICE 220V PUMP ........................................................................ 30 

 

  



 

5 
 

1 INTRODUCTION 

1.1 ELIGIBILITY CONDITIONS 

 

SEABIN VY HYBRID units must only be installed in marinas, ports or any body of water 
with a calm environment and services available where: 

• Maximum water current speed range equal or below 1,5 knots   

• Maximum wave height in the marina equal or below 0,3 meters    

• There is a minimum 1.2 meters of draught on the lowest astronomical tide  

• SEABIN units will be positioned on floating docks or pontoons 

• Freeboard range between 320mm minimum and 820mm maximum   

• Maximum distance to an electric energy supply point is 6 meters.  

• Voltage provided is 110V or  220V 

• There is staff to maintain SEABIN regularly  

  

1.2 LOCATION 

 

Each SEABIN must be installed in a specific “Debris Problem” area. This strategic 
positioning enables the wind and the currents to push the debris directly to the SEABIN. 

 

 

 

  



 

6 
 

 

 

1.3 NECESSARY TOOLS FOR INSTALLATION 

 

Please, prepare: 

• 3 Polygonal keys 17-19-24  

 

 

• Fixation screws adapted to your pontoon type  

Fixation srews are not supplied and must imperatively  
be stainless steel A4 – AISI 316L 

 

 

• A male electrical plug, suited for your electrical 
network.  

Plug are not supplied.  Format must be adapted to your 
electrical network 

 

 

  



 

7 
 

1.4 TECHNICAL SPECIFICATIONS AND DIMENSIONS 

 

• Power 110V / 220V, 500 watts 

• Pump: 25,000 LPH 

• Sturdy HDPE construction 

• Marine grade stainless bracket  

• Capture micro plastics > 2mm 

• Catch bag holds 20kg 

• Weight with bracket: 57 kg 

• Electrical cable: 6 meters  

 



 

8 
 

1.5 HANDLING 

 

SEABIN is delivered as follows: 

• Parcel: l100XL80XH63 – Weight : 49kg 

• Parcel: l200XL15XH15- Weight : 8kg 

Once delivered, parcels must be only handled with heavy freight equipment 

 

1.6 NOISE AND INDIVIDUAL PROTECTIVE EQUIPEMENT  

 

• SEABIN sound level remains under 70DB and does not require the use of anti-
noise equipment 

• To limit the risks, when installing and handling SEABIN, we advise you to wear 
personal protective equipment against drowning.   

  



 

9 
 

1.7 SUBSETS PLAN 

 



 

10 
 

 



 

11 
 

1.8 DETAILED PLAN 

 

 

  



 

12 
 

 

 

PARTS 

N° DESCRIPTION (English) DESCRIPTION (French) QTY 
 

18 DOCK BRACKET EQUERRE BRACKET 1 

 
A 

19 RUBBER WASHER RONDELLE CAOUTCHOUC 4 

17 REAR RUBBER PAD PLAQUE ARRIERE CAOUTCHOUC 1 

28 CHAIN FASTENER D5 ATTACHE RAPIDE CHAINE D5 1 

V13 STAINLESS WASHER M16 RONDELLE M16 4 

V14 STAINLESS NUTS M16 ECROU M16 4 

V15 STAINLESS SPRING WASHER M16 RONDELLE ELASTIQUE M16 4 

12 BRACKET POST TUBE BRACKET 1 B 

13 LEFT COVER PLATE PIECE DE BLOCAGE GAUCHE 1 

 
D 

14 RIGHT COVER PLATE PIECE DE BLOCAGE DROITE 1 

15 CLAMPING PART PIECE DE SERRAGE 2 

16 FRONT RUBBER PAD PLAQUE AVANT CAOUTCHOUC 2 

27 CHAIN D3 L500 CHAINE D3 L500 1 

29 CHAIN FASTENER D3,5 ATTACHE RAPIDE CHAINE D3 1 

01 OUTER CASE CUVE 1 

 
F 

02 LID COUVERCLE 1 

03 INNER FLOAT FLOTTEUR 1 

06 BRUSH BROSSE 1 

09 POWER PUMP 220 V. POMPE 220 V. 1 

11 BRACKET BASE BASE BRACKET 1 

31 ELECTRIC TUB LENGTH 3m GAINE ELECTRIQUE LONG. 3m 1 

V09 STAINLESS SCREW TH M12x100 VIS TH M12x100 3 

V10 STAINLESS WASHER M12 RONDELLE M12 3 

V11 STAINLESS NUTS M12 ECROU M12 3 

V12 STAINLESS SPRING WASHER M12 RONDELLE ELASTIQUE M12 3 

20 TOP CATCH BAG FRAME STRUCTURE SAC SUPERIEURE 2 

 
C 

21 BOTTOM CATCH BAG FRAME STRUCTURE SAC INFERIEURE 2 

22 CATCH BAG SAC 2 

23 CATCH BAG COVER COUVERCLE SAC 2 

24 BREATHER TUB PIPE BEND F/F COUDE TUBE EVENT F/F 1 

 
E 

25 BREATHER TUB PIPE 1 L62 TUBE EVENT 1 1 

26 BREATHER TUB PIPE 2 L430 TUBE EVENT 1 1 

30 BREATHER TUB PIPE BEND M/F COUDE TUBE EVENT M/F 1 

32 BLOCKING WEDGE CALE DE BLOCAGE INNER FLOAT 1 G 
 

 



 

13 
 

2 INSTALLATION GUIDE 

 

Installation must be performed by a qualified staff member,                                                     
aware of electrical risks and safety procedures 

 

To  install your SEABIN:  

1. Assemble the Bracket Post (B) and the Main Body (F) and fasten only one of the 3 
screws to allow for space 

2. Put the electric cable (31) inside the Bracket Post (B) and pull it up 

3. Fasten the 2 remaining screws  

4. On the intended pontoon, place the Dock Bracket (A) and fasten the screws. 

         

Screws used for fixing SEABIN on its floating pontoon are not supplied.                           
They are specific and vary depending on your pontoon manufacturer and                  
pontoon type. They must imperatively be stainless steel A4 (AISI 316L)  

5. Assemble the Breather Tube (E) and the Lid (02, F) 

     

  



 

14 
 

 

6. Gently put your SEABIN into the water  

 

We highly recommend that SEABIN be manoeuvred by 2 people.  

 

7. Position SEABIN at the center of the Dock Bracket (A) and let water gradually fill 
up. 

        

8. Place the Cover Plate (D) onto the Dock Bracket (A). 

  



 

15 
 

 

9. Make sure that only the rubber washer remains positioned under the Cover Plate 
(D) onto the Dock Bracket (A) 

10.   Fasten the nuts (V14) of the Dock Bracket (A) first and fasten the fixation clamps 
(15) of the Cover Plate (D)  

 

           

 

11. Adjust the height of your SEABIN: the mark on the Breather Tube (E) must 
correspond to the water level. 

 

 

  

(15) 

(A) 

(V14) 

(D) 

Water Level 

(B) 



 

16 
 

 

12. Free the intended pontoon of all weight, in order to check if the water level 
remains on the Breather Tube’s mark.  

The mark on the Breather Tube must correspond to the water level,  
when the pontoon is free of all weight 
 

            

 

13. If the Breather Tube’s mark does not correspond to the water level, assess the 
gap 

    

 

Then readjust the height of your SEABIN: 

14.  Slightly unfasten the Cover Plate’s fixation clamps (15)  

15. Slide the bracket post up to the desired height, in order to allow for the Breather 
Tube’s mark to match the water level when the pontoon is free of all weight.  

16. Fasten the fixation clamps (15) 

 

 



 

17 
 

 

17. Position the bag (C)  

     

    DO NOT turn on your SEABIN before you have diligently placed the bag in its      
    position. Failure to comply may result in damages on the pump.  

 

18. Connect your SEABIN to your electrical network 
The electrical installation has to comply with the standards EN 60204  
to avoid any risk 
 

19. Your SEABIN can start ! 

 
 

 

  



 

18 
 

3 MAINTENANCE GUIDE 

 

Maintenance has to be performed by a qualified staff member, aware of electrical risks 
and safety procedures. 

 

3.1 CATCH BAG CHANGE 

 

Your SEABIN must imperatively be turned off prior to any bag change or any other bag 
maneuver. Failure to comply may result in damages on the pump. 

 

• Turn off your SEABIN and keep the cable near you.  

• Empty and replace catch bags as often as necessary, using a hook. 

 

 

  



 

19 
 

3.2 REGULAR CLEANING 

 

Every SEABIN must be cleaned at least once per month. Under specific site conditions 
(temperature, salty waters, etc) your SEABIN might require this frequency to be 

adjusted. 

• Do NOT turn off your SEABIN  

• Do NOT retrieve the catch bag 

 

 

• Partially untighten the fixation clamps (15) to allow the bracket post (B) to slide 
up.         

• Gradually slide your SEABIN upwards to allow water to evacuate the main tank. 

• Pull your SEABIN up to its highest position. 

 



 

20 
 

• Turn off your SEABIN and tighten the Cover Plate’s fixation clamps (15) of the 
Cover Plate (D) 

• Remove the catch bag  

• Lift manually the float (03) and position the stopper (G) 

 

• Water pressure wash with water to eliminate all biogrowth (algae, shells, etc) 

Do not use any aggressive or corrosive products and tools              

                                                   

3.3 TANK DECLUTTERING 

 

There is no need for specific maintenance on the pump. But in case debris accidentally 
come to obstruct it by accident, follow the below procedure:  

• Take your SEABIN out of the water onto the pontoon following the installation 
procedure detailed in this technical notice in reverse order 

When SEABIN is turned off and out of the water: 

• Unscrew the nuts from the lid (02) 

• Remove the lid (02) and the inner float (03) 

• Clean the obstructing debris 

• If the problem remains, please refer to the “Maintenance of the Pump” section on 
this guide 

  



 

21 
 

3.4 PUMP MAINTENANCE 

 

• In the unfortunate event of waste obstructing the pump, proceed first to declutter 
the tank following the steps detailed in this notice 

• If needed, clean the pump: unscrew the pump (09) from the Bracket Base (11). 
Follow the cleaning procedure as detailed in the pump notices  

 

3.5 PUMP TECHNICAL NOTICES 

 

Cf. Appendices :  110 V, 220 V pump technical notices 

 

  



 

22 
 

4 HELP / FAQ 

I need to replace a wearing part (catch bag, pump, brush, anode…) 

Poralu Marine provides a complete range of SEABIN’s parts. Please, note that all spare 
parts must strictly be supplied by Poralu Marine. Any component, which does not 
pertain to Poralu’s wearing parts/spare parts list cannot be installed on your SEABINS. 
If installed, this is done at your own cost and risk. 

 

My bag is clogged  

Depending on the quality of the water (e.g.: mudd), your catch bag may clog. It is 
imperative to regularly pressure wash your catch bags.  

 

SEABIN is sucking air instead of water (white bubbles or foam at the surface of 
water)  

SEABIN’s water level mark is above the water and needs to be readjusted to be at the 
water height.     

  

SEABIN’s water flow seems slow / the inner float remains in its upper position 

1. The pump may be obstructed and your SEABIN needs to be removed from the water 
to clear the water intake. Refer to ‘Decluttering & Maintenance of the Pump’ sections 
of this guide 

2. The Catch Bag filter may be clogged with debris and needs pressure cleaning.  

3. The SEABIN may have a build up of marine growth and needs cleaning. Follow SEABIN    
    cleaning instructions.  
 
4. There may be some debris caught in between the Inner Float and the SEABIN Lid. 

Turn off the SEABIN and push down firmly multiple times to clear the debris.  

If the obstruction remains, Please contact your distributor.  

 

 

 

 



 

23 
 

5 WARRANTY 

5.1 GENERAL CONTRACTUAL WARRANTY CONDITIONS 

5.1.1 SCOPE 
 

ROTAX provides a contractual warranty for all products manufactured.  

ROTAX guarantees the customer against all defects in materials, manufacture, execution 
and installation of goods it has supplied, whether these defects are hidden or apparent. 
Should the defect be apparent, the Customer must notify ROTAX as soon as possible 
after receipt or admission of products, by registered letter.  

 This warranty terminates two year (2 YEARS) after the earliest of the following dates: 
the putting into service of the installation, signature of the statement of receipt or 
admission, or failing these after the invoicing date.  

Interventions under the warranty cannot have the effect of extending the period of this 
warranty, the completion date for the warranty remains the initial due date.  

Under this warranty the only obligation incumbent on ROTAX will be its choice of the 
free replacement or repair of the product or the article recognized to be defective by its 
services, unless this method of compensation proves to be impossible or 
disproportionate. In all cases the responsibility within the framework of this warranty is 
limited to the price of the product in question and does not extend to consequential 
losses.  

To benefit from the warranty any product must first be submitted to the After-Sales 
Service of ROTAX or one of its accredited partner, the agreement of which is essential for 
any replacement, after verification in particular of the conditions of eligibility, the 
conditions of installation, the site conditions, the conditions for use and the maintenance 
conditions. It is the responsibility of the final client to provide ROTAX with a statement 
of maintenance operations performed on the guaranteed installation. Any absence of 
these detailed statements or any modification/maintenance operation not validated by 
ROTAX, would in fact cancel the warranty for the installation, without the customer 
being able to require any compensation whatsoever.  

For the execution of its warranty ROTAX makes the necessary products available "ex-
works".  

 

 

 

 



 

24 
 

5.1.2 EXCLUSIONS 
 

ROTAX does not guarantee wearing parts, a list of which may be provided to the 
customer on request. Goods not manufactured by ROTAX will be subject to the 
warranties of their manufacturers (list provided on request).  

The warranty does not apply for obvious defects at reception or admission not notified 
to ROTAX.  

Any damage caused by normal wear or misuse by the Customer and/or contrary to the 
recommendations of ROTAX is excluded.  

Defects or deterioration caused by natural wear or by an external accident, or even by a 
product modification not scheduled or specified and/or not authorized by ROTAX, are 
excluded.  

The customer will be routinely responsible for delivery charges. ROTAX will not be 
responsible for the costs of dismantling, reassembly, transport and labour, which will 
remain the responsibility of the Customer.  

The warranty does not apply when the client defaults on payment of the price of the 
order.  

ROTAX is relieved of its present warranty obligations for any damage caused by any 
unforeseen circumstance or force majeure.  

The customer cannot claim any compensation whatsoever in the event the goods are 
immobilized due to the application of the warranty.  

The customer is solely responsible for the final choice of products.  

This warranty is only attributable to equipment invoiced to the original purchaser and 
will not be transferrable, even for the benefit of any sub-purchaser of the equipment 
whatsoever. 

In no circumstances can ROTAX be held responsible for damages or incidents, direct or 
indirect, consequent to a defect covered by the warranty. 

In no circumstances can a claim be made under this warranty for any defect in 
engineering, design, installation, sizing or anchoring system, and its consequences on 
the products, when these services have not been provided under the responsibility of 
ROTAX  

 

 

  



 

25 
 

5.2 SPECIFIC WARRANTY CONDITIONS  

 

The conditions for the execution of this warranty are compliant with the General 
Warranty Conditions defined above, apart from the following indications 

5.2.1 SCOPE 
 

ROTAX guarantees SEABIN V5 HYBRID against any structural damage impacting all 
relevant mechanicals properties, in conditions of normal use, for a period of 2 years. The 
date this warranty takes effect is determined in compliance with the General Warranty 
Conditions. The reference articles used are:  

• The effective slide mechanism of the inner float inside the tank  
• Suction of debris surrounding SEABIN V5 HYBRID  
• Bracket fixation system’s proper functioning  

ROTAX guarantees its rotomoulded parts against fissuring or cracking and deterioration 
by UV, salt water, attacks by animal and plant species and hydrocarbons.  

5.2.2 EXCLUSIONS 
 

This warranty does not cover the products for which the conditions for storage, 
installation or use are not compliant with technical notice provided by ROTAX. 

This warranty does not cover deteriorations which result from negligence, improper 
use, alteration to the PE shell of rotomoulded parts, effects of gales, storms or ice 
movements, or non-compliant installations or supports. 

This warranty does not cover deteriorations which result from a failure to comply with 
maintenance & cleaning instructions. The improper use of any aggressive product to 
clean V5 HYBRID SEABINS is excluded from this warranty.  

This warranty does not cover corrosion, when resulting from a failure to comply with 
maintenance instructions as provided by ROTAX. The improper use of any corrosive 
product to clean VY HYBRID SEABINS is excluded from this warranty.  

ROTAX is not responsible for faulty pontoons fixation systems designed by V5 HYBRID 
SEABIN’s clients 

This warranty does not cover the use of wearing parts when not supplied by Poralu 
Marine. Nor does this warranty cover damages caused by the use  of screws which are 
not strictly stainless steel A4 – AISI 316L 

This warranty does not cover uniform decoloration, due to natural elements or 
improper use of V5 HYBRID SEABINS.  



 

26 
 

6 APPENDICES 

6.1 TECHNICAL NOTICE 110V PUMP 

                         

                           



 

27 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

28 
 

 

 

 

 

 



 

29 
 

          

 

 



 

30 
 

6.2 TECHNICAL NOTICE 220V PUMP 

 

 

 

 



 

31 
 

 

 

 



 

32 
 

 

 

 



 

33 
 

 


